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EASTERN UNIVERSITY, SRI LANKA

DEPARTMENT OF MATHEMATICS
THIRD EXAMINATION IN SCIENCE 2013/2014
SECOND SEMESTER (Oct., 2017)

AM 308 - STATISTICS

(Special Repeat)

-
Answer all questions Time : Two hours
-
Calculator and Statistical tables will be provided
4
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1. {a) In a moderately asymmetrical distribution the values of moderand mean are

P . . .
32.1 and 35.4 respectively. Find the median value.

1 order to estimate the mean lenoth of e

gth
of 100 leaves was chosen and their lengths m
frequency table was set up and the results were as
erval value(cm) | 2.2 | 2.7 | 3.2 | 3.7 |42 | 47|52 |57 |62
Frequency 3|5 |8 |12|18|24]20]|8 |2

i. Find the boundary value of each of the mid interval value.

ii. Draw the histogram and frequency polygon curve for the above data.

ilate mean, median, mode and standard deviation

'S )
L

'omment on the shape of the distribution.
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